Consider the following statements with

reference to Uttar Pradesh -
(1) Forests constitute about 12. E‘K: of the total

1.

oo A @ e § Prefiiea Ful @ RER

PIfoTg —
(1) T @ g Ao e P AT 12.8%

g9 B

geographical area of the state.
_2}The districts of J ra_ugu_ﬁh_a:jﬂl__aﬂd.ﬂﬂma 2) iR ol aferr forett § F1 a7
have no forest land. ( 3
Select the correct answer from the code given ‘iﬁ el € | -,
below — ﬁ%ﬁﬂﬁﬁﬂﬁﬁ?ﬁalq
Code - HE —
_A3) only 2 (b) Neither 1 nor 2 o s (b) :a,;? 11 q:: fr 2
: d
= Only1 (d) Both 1 and 2 {C}WI gﬁfﬁﬁﬁ{‘;}fﬂg A
2. Non-conventional energy sources are those 2. IR-uNuR® !
energy sources, that are - (a) ﬁgﬂm‘ﬁt—f £ (b) T-ri{“mﬂﬂﬂ?-'l ?
. (8) Produced from ri[-‘i].',ﬂﬂ-nEhl»al:atma .
electricity (¢} —dtpvofig & (d) EAINIEE]
(€) Non-renewablg (d) Produced from heat
Who among the fulicwlng translated 300 3 _ feeforftaa # ﬁ-ﬂﬂ.“f I gll.aﬁi' ® :”'”_aﬂa
volumes of Sanskrit books collected by Firoz sifaT #H ENE Hafead 300 AEpA W Pl
Tuglaq during the campaign of Nagarkot? AT faar?
(a) ijlla Abdul Bagi  (b) Azilzuddin I.(harr (a) oo oreqger A (b) SRAGENT T
jgl Mirza Muhammad (d) Talib Amuli © i wEmTg ot (0) e e
Ali 3
. What is the theme of the International Day for ~ 4  2022-23 % forg T4 S=[e & AU smRISEA
the Eradication of Poverty for 2022-23? feaw &1 fawg @ur 27
(a) “Coming together to end poverty and (@) " 3 Herg WA B B Y g |
discrimination.” GIT'-’FT i ,
_-(b} “Acting together to empower children, their (b) Tyt Rkl ®e B foIg i, 95 IR
families and communities to end poverty.” 3R ¥ ﬂ'rlf PTG T B T TH w
() “Accelerating global actions for a world © W : & J .
without poverty.” HFITIi él'l' & g & AR st F oh
d) “Digni I ice.” o
(d) “Dignity for all in practice ) ¥ w3 e %
5. Which of the following is/are the type/s of 5 f=iferiRag & & BT/ Fefsar &1/ & UBR
poverty? 8 /%ﬂ? .
1) Ab
(1) su!ute puUErtv: (1) of (=)
(2) Relative poverty e
(3) Subjective poverty (2) wmer fofaer
(4) Functional poverty (3) eI e
Choose the correct answer using the code given (4) sFrate® fFefar
below - ﬁf&qwa@ﬁﬂiﬁﬁ?ﬁgﬁq_
~18) Only 1 and 2 (b) Only 1 and 4 (8) Paar 1 afkw 2 (b) Faer 1 v 4
(¢) Only 3 and 4 (d) Only 1, 2 and 3 (c) #9a1 3 U 4 (d) e 1, 2 vq 3
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6. RE'{'?- of Human Resources in Economic
development, which of the following
statement/s is/are correct?

1. Effects of economic development on
population growth, X

2 rffen:ts of population growth in economic
development. n

—

Select the correct answer using the code given
T i— '

below -

Code - _

(a) Only 1 4 (b) Neither 1 nor 2

(c) Both1land 2 jsl]l Only 2

7. Consider the following events and arrange these
in correct chronological order starting from the
earliest to the last activity —

(1) Appointment of the Drafting Committee

(11} Indian Constitution was adopted and enacted

(ln) Date of- commencement of
Constitution 2 H..g-_?-'

(IV) Constitution Assembly first met & » 1446

Select the correct answer from the code given

Indian

below —

Code -

@1, n, v, ~AB) v, 1,
(c) v, 1, 1, 1l (d) om0, v

8. Match list-] with list-ll and select the correct

¥

answer using code given below —.

List - | List-1l
(Diseases) (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue _ (2) Protozoa
" (C) Elephant Foot—@ (3) Worm
(D) Malaria ~— (4) Bacteria
Code -

(@) A-4), B-(2), C(3), 1)
=) A-(4), B-(1), C-(3), D-2)
(¢) A-(2), B-(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(2), D-(1)

QU3

6. mﬁfﬂiﬁwﬁwmmmﬁm
#, ﬁﬂﬁrﬁtqﬁai&rﬂ‘iﬁ.ﬁﬂﬂﬁwffﬁ?ﬂﬁ%fﬁ?
1. e R &1 srreen 9fy W yag
2. e 3y @1 e Ao w® g
I i T 9P SR W E SR 6 a0
PITg —

@_
(@) Fae 1 )TaEr1 M 2
(c) g1 1 3w 2 (d) e 2

7. PrefRed geel ) fER S @ 5 el
HIATgHT # @afterd BT, T ggdl § o

anfet wfafafer ae —
g (1) wreg Al @1 i
avq (1) e e @ sfiga AR e
e :
(1) e SR @ yge B @ A
(V) wiferm= w1 @Y yer do@
e BT MY FE W el STR BT T by —
oT —
(@) 1, 11, Iv, (b) 1v, 1,11,
(c) v, 1,1, I (d) i, 1,1, v

8. M B - ¥ e FfTT @R A R
T gE @O FR@ WEl SuY 61 g
Py —

-1 T -
(eafer) (D)
(A) Uftes gor (1) farsror
(B) ¥ (2) AT .
(C) wre dia (3) P
(D) waifRar (4) faramo
ﬂ? —

(@) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(1), C-(3), D-(2)
(¢} A-(2), B-(3), C-(4), D-(1)
(d) A-(3), B-(4), C-(2), D-(1)
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Match list-l with list-ll and select the correct

answer using the code given below the lists —
List — |
Book
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-insha -
List =1l
Context
(1) History of Bengal
(2) History of Bahmani's Ahmad Magar
(3) Collection of Mahmood Gawan's letters
(4) Victory of Gujarat
Code -
a) A-(4), B-{2), C-(1), D-(3)
(b) A-(2), B-(4), c-(2), D-{3)
{C:l A":]-}r E-{Z.:l, C‘-l:'q'], D_{S}
1 A_[q']r B_{‘?-}J C—l:sl, D"“—:’

_| Y gl W gaferd BT T iy,
;ﬁﬁ?ﬁﬁ ﬁqﬁi we W wE IR FAY ~ 1
gl = |
J&i®
(A) ﬁmﬂ—&iﬂﬁﬁ
(B) g¥EH—G—
(C) Rarg—sa—aanfe
(D) Rarg—se—zm
= -
fawg
(1) et T SfaET
(2) TEF B IEHGATR @1 giErd
(3) HEqE Al & Al BT WIS
(4) o A
ﬁ o
(a) A-(4), B-(2), C-(1), D-(3)
(b) A-(2), B-(4), C-(1), D-(3)
(c) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

10 Given below are two statements, one is labelled 10 #13 = @ g, forad o wa &1 aifydem )
iihssertin:;n ]{A]Pand Inther as Rea?nn (R)- LR g Y P (R) PET T & —
sertion (A) - Population control is neécessary to RERES )
maintain the environment of the St {A].' B AR P AT v
country. forq ST T amgws ¢
Reason (R) - Due to the rapid increase in R (R) - STEE ¥ o af & FRoT T
population, the environmental : : , s
balance is maintained. » H@Ei_ TRl
Select the correct answer using the code given A R T ae | w9 9o g -
below — ' HE —
Code -
(a) (A)is false but (R) is true :2; Eﬂg; QILTTHIETI g
b i i ;
~Ab) (A) is true but (R) is false ‘ © (A) &l {R]ﬂ’ﬁ% o £ AR [, (4) @
(¢) Both (A) and (R) are true and (R) is correct N
explanation of (A) W Tl e -
_ (d) (A) &R (R) BT W & =g (R), (A) A
(d) Both (A) and (R) are true but (R) is not correct
explanation of (A) , - el e V- ‘ 1
@Which among the following organisations was 11. FrifeRag # @ @ar dreq feeh § aue
2 responsible for throwing a bomb at Viceroy Lnrd. it BT W T BeY 9 forv FeRarE o
Hardinge in Delhi? :
AR FTgx (b) e
(@) All India Labour  ®b) Yugantar (@ Hfm 0
Association ~ . afaf
. v (d
(¢) United Patriotic  (d) Anushilan Samit (©) g Aty (4) srgehe
Association "3 R
Puge 40032 TR

[B-1-23] 153101

te


t.me/UPPCS1

12.

13.

Ac) Cchris Hipkins

i among the following has been named asth;e
me Minister of New Zf.-.aland in January, 20237

D) Cindy Kiro

(d) Jacinda Ardern

Which of the following pairs (School of Thought -

Pri
(a) carmel Sepuloni

proponent) is correctly matched?
(a) Vaisheshika — (b) Uttara Mimansa -
patanjali Kapila

() Mimansa — Kanada (d) Nyaya - Gautama

@Dw‘hen was the Census work done for first time in

1.

5. In February, 20

17, :
(DWhith of the following

India?
4a) Inthe year 1871 (b) In the year 1861

(c) In the year 1850 (d) In the year 1881
Wwith reference to the scheme wise allocation in
the 2023-24 Union Budget, which of the

following statement/s is/are correct?
(1) Compared to the previous year, highest

percentage of decline has been recorded in

the allocation for MGNREGA. ~

(2) Compared to the previous year, highest

percentage of growth has been recorded in

the allocation for Jal Jeevan Mission. %
Select the correct answer using the code given

below —

Code -

(a) Neither 1 nor 2 (b) Both 1and 2
& Only 2 A only 1

est helicopter

23 India’s bigg
manufacturing plant was inaugurated in which

one of the following places?

(@) Nasik, Maharashtra (b) Chakeri, Uttar

pradesh

: , Karnata ka
(©) Coimbatore, Tamil EE’} Tumkuru i
Nadu _
(Poetess = compositi ons)

is not tched?
correctly ma (b) sahajobal = Sahaj

(3) Daya Bai - Vina
b"l a nay prakash
{ Malika ds Kumarl — Poem
c) & o on ¢
Gangabai — Ganesh of Swarn Bell

12.

18.

14,

15.

" () froa o #

16.

7.

Mmsﬂfﬂ
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RrefaiRae # & fry o, 2023 7 GofeTS B
YTl & W A g T 87

(a) BT Jgerf (b) RIS farr

(c) fhw fRufthw (d) ARfer e
g X & 31 @ g (@ — TA)
wE gaferm &7

() e — Tl (b) TR AT —
(¢) Haiar — Fva (#77)(d) =g — T

TRE & ST @7 B wdved @ fear T
o :

(a) o 1871
(c) o 1850 #

(b) o 1861 H
(d) g 1881 #

e qoTe 2023-24 % TSR B FTAIR SEc

ﬂ?ﬁﬁ_ﬁﬁﬁmﬁﬁfaﬂﬁiﬁﬂﬁm
a8 /87 .
mﬁﬁﬁaa‘a?rqwﬁq:ﬁmﬁ'gaﬁﬁﬁ
' wmwnﬁﬂﬁaﬁﬁraﬁaﬁﬂﬁﬁl

gam#tﬂaﬁﬁﬁﬂﬁ‘ﬂﬂﬁﬁ
W.ﬁﬂﬁmnﬁrﬂﬁqﬁaﬁf-aﬁmﬁ

B
ﬁﬁﬁﬂ'&ﬂzﬂﬁrmaﬂfﬁﬂﬁﬁﬂ?ﬁ

ﬂ:paﬁm 2,

E_
@aarird@ 2 (b) BFi 13K 2
(c) ael 2, (d) Tee 1

weadl 2023 ¥ WRT ® WY g€ seilhiey A
= @ 9gETed e § ¥ e = W

g 17 :

(a) 7R, MEWTSE . (b) T, SN weur
(c) PR, AT (d) TR, m
mﬁ;ﬁqw‘ﬁﬁ@
W g -

T
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संकल्प से सिद्धि Join @UPPCS1

—

Tt @ e ATl T HaTer BRal € —
: Panchayats are conducted 18. gumrdi @ o
18. Al elections to the .
by - (a) wRe &7 fafem (b) dengedl W AR
ion Commission (B) Panchayati Raj
& Eﬁ:;?: S Commission ST
JF) state Election (d) State Legislature (c) 3o fyated s (d) T arawenfis
Commission 5
; the recommendations of the 19. dard) w1 1) el Fgar ARy wfddsg (1977)
19. With reference to ) :
Ashok Mehta Committee (1977) on Panchayati Eal Ppic) famiRe & wed # fFA=foRag Sy
Raj, which of the following statement/s is/are ¥y P W ad 2/
correct? ;
(1) The three tier system of Panchayati Raj should (1) Tl T @ A w aRen & R R
be replaced by the two tier system. v e aavern s =favy |
(2) A block should be the first point for (2) T WR B A g %’@' WIS P
d tralization under popular supervision ; '
hﬁff: fﬁé st;::leuel.ﬂ?“ i i fa@=dtevor &1 gem g AT T @Ry |
Select the correct answer using the code given = g g hT W Wl 9TR &1 99 PHiferg —
tc;:‘l:'uw- BE —
e- ) .
(3) Both 1 and 2 Ab) Only 1 (8) TIT 17 2 *:’ DA 1
(€) Neither 1 nor 2 (d) Only 2 (c) 71 @t 1+ 2 2 () et 2
20 Which of the following cities of Uttar Pradesh is  20. e W9 & Frefeies st # 9 BT T R,
not included as the venue for 11 meetings of 200 HRT ®I FLTeTT & SR G209 20093 § o
sessions of G-20 during India’s Presidency of the 11 ¥5P1 & e =1 @ w9 et =8 27
grouping? - : . '
(@) Agra Ab) Kanpur @) AR (b) FR
(€) Varanasi (d) Greater Noida (c) arrordt (d) Few st
@Eharak Samhita is divided into how many 21 T¥® wWiRET fhay el iR @St 7 fawniforg &7
chapters and sections? _
/@ 120chaptersand  (b) 80 chapters and (@) 120 3reamy 3R 8 We(b) 80 ATy 3k 7 W
8 sections 7 sections .
(¢} 100 chaptersand  (d) 60 chapters and (¢) 100 3/eam SR 5 @We(d) 60 swEaTy SR 8 wWe
5 sections 8 sections ik ' _
22. Human heart is made up of how many chambers? - 22. g g5y fawr e (Gew) BT a9 B &7
~2) Only four (b) Only one (a) Faer TR (b) Haet v
(€) Only three (d) Only two () Baar & (d) Faer =)
How many railways stations have been identified  23. weg®). 2023 e IR YW # 3 AR =
for modernization under “Amrit Bharat Station AT & TET SIBHHT B fory Brasy Yoy
Scheme” in Uttar Pradesh as on February, 2023? R B gEEm @y e £7
—{a) 57 (b) 149 (a) 57 (b) 149
(c) 82 (d) 123 (c) 82 © 0 (d) 123
24 Which of the following is' mRNA vaccine used 24 frfaREd § & B |1 mRNA SedE g, fora
against Covid-19 infection? ST $IAS-19 W77 & free T e {4
_A8) Moderna (b) Sinovac (a) HigwT (b) f=rd®
(c) Sputnik (d) Novavax (c) wqefiys (d) Srardey .
P f3
CETED i T




25.

28. Which statement is true for Finance Sector

In 1918, the United Provinces Kisan Sabha was 25

formed by which of the following leaders?
(@) Indra Narayan (b) Swami Sahjanand

Dwivedi Saraswati 2%
(c) pt. Jawaharlal Nehru (3 Baba Ramchandra
F

Which officer was known as ‘Bhagadugha’ during 26.

Vedic administration?

(a) Chief Officer of
Forests

(c) Messenger

‘[D} Revenue Collector

" (d) Chief Officer of the
Gambling
Department

Match list-l with list-ll and select the correct
answer using the code given below the lists:
List -1 : '
(A) Article — 324
(8) Article 315 ~ >
(C) Article —280 ~ &
(D) Article—338 — |
List - Il
(1) National Commission for Schedule Castes
(2) Finance Commission
(3) Public Service Commission
(4) Election Commission
Code - '
(a) A-(3), B-(2), C-(1), D-(4)
(b) A-(1), B-(3), C-(4), D-(2)
() A-(3), B-(2), C-(4), D-(1)
~0) A-(4), B-(3), C—EL D-(1)

27.

(Fiscal 28.

Management) in the Union Budget-20237?

(a) Twenty years interest free loans to states:x

(b) Budget estimates 2023-24 for total
expenditure is ¥ 55 lakh Cr. >

(¢) Fiscal Deficit 2025-26, the target is to be
below 5.5%. ;

9 Fiscal Deficit of 3.5% of GSDP allowed for

states.

2. ‘Milind Panho’ is in the form of a dialogue
between King Milind and Buddhist Saint, The
concerned saint was -
(@) Nagbhatt
€} Nagasena

26,

(b) Kumaril Bhatt
(d) Nagarjun
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1913$#gaﬁnramﬁwwwf&mﬁ
¥ frg Jar 7 faer ar?
(a) g7 ANTgoT Ry A (b) T FEGT
Lirsenifc]
() 1. TR @ e (d) & e |
A
e BTt e F ATTgE B SEERT o1

(a) ST} @7 W (b) YT HX AT B
ferepTer . el

(c) WHTEATR g e (d) we fwmT T FETT
ol & BEaE

Tl B -1 g AR qor Rl @

A% Ry Y BE | & SR B AT ~
g -

(A) ST — 324

(B) 3FEE — 315

(C) FFBT — 280

(D) 3T — 338
wE — il

(1) T Sryfere ey ST

(2) farer smamT

(3) &Y aT AT

(4) Fratam ST

ﬁ.—

(a) A-(3), B-(2), C-(1), D-(4)
(b) A-(1), B-(3), C-(4), D-(2)
(c) A-(3), B-(2), C-(4), D-(1)
(d) A-(4), B-(3), C-(2), D-(1)
S awe—2023 § fim &m § Qe
(a) Treui B 99 99 B - Q@ Yot T |
(b) 2023-24 & TWE P H =Y
i i 5 IGAET § A = 55 @
(¢) 2025-26 % foTT XTI T BT 5.5% Y 4=
Y@ & ey | o

(d) ShoESd. @1 3.5% o
il | o1 ol A s o f

Ak :WWWWW%%?’
T WA WY H R ) 98 g o —

i () et g
- 9 ety

I LT



(20

Who among the following has authored the book
“Spare”?

_Aa) King Charles
() Prince Harry

~ (b) Prince Williams
(d) Prince Phillip

30.

frafeafaa % ¥ fres Rax g fored 87
(a) fpTr =medd (b) fiiw faferaw=d
(c) fire &9 (d) fifer fimfema

31. Given below are two statements, one is labelled 31 9 @ wy= & oo 9 & EUlSIRERE (A)
as Assertion (A) and other as Reason (R): 3R gER B PR (R) FBT T 2l .
Assertion (A) -12 Cheetahs arrived from South afypue (A)- BRa9, 2023 # 12 AT B 3w
Africa to India in February, 2023. aifthepT ¥ W ST AT B |
Reason (R) - Restoring Cheetah population is HROT (R) - <af ) ey DT FURAT AR P
considered to be a priority for India. \ greifar 2|
Select the correct answer using the code given | _
i 9 3 T FE ¥ wE SR B PIferg
CD'dE = o0 ‘ﬂg‘? - e
(a) (A) is true but (R) is false r-r:: (@) (A) ¥ & fabg (R) Tera g
(5) (A)is false but (R) is true g O (a)ToE & Ry (R) W @
¢ Both (A) and (R) are true and (R) is corrects (c) (A) 3R (R) ST W=7 € 3R (R), (A) @ W&
explanation of (A) T Bl B
(d) Both (A) and (R) are true but (R) is not correct (@) (A)3R (R) Fe & foeg (R), (A) B W& e
explanation of (A) “ﬁlw 2
32. With reference to the Deakin University, which of,.. 32. €t fivafierer @ = ¥, FrefeRas wemi
the following statement/s is/are correct? I 48P E u/Y e g8
1. It will be the first Foreign University to enteg? 1. 98 U% w@ad UREY P qEa § aEd H ey
India as an independent campus. = e Rl Reaf)
2. Itis being set up in Maharashtra. s ¥ za:_; el & yrfs ' R el
Select the correct answer using the code given ] e ST & & |
below — - Aa R 1 g2 B ganr TN WE TR g —
Code - e~
—~T@) Only 1 ® Neither1nor2  f (@ daw 1 () 7 @Y 147 & 2
(¢) Both 1 and 2 (d) only 2 o O sFi1wd2 (d) #aer 2
33. With reference to India’s G-20 Logo, which of the?.':?! B. 9RT B G-20 TH fre & = ¥, Ffafa
following statement/s is/arecorrect? k BT H W B w1/ HEl B /87 '
1. The logo has lotus with seven petals. Lwiw fore § wm TG arerr Fer 2
2. The seven petals of the logo represent seven 2. Wil fors ot mamgﬁ‘;ﬁ | HEEm 3
continents. : 00 et aved &
Select the correct answer using the code give . i B oy B BT AT T GE IR @7 99
below — g‘.: P —
Code - & HE — .
(a) Only 2 _~b) Both 1 and 2 ™ (@) Baw 2 (b) g4 1 g 2
- (¢) Only1 (d) Neither 1 nor 2 (c) weat 1 (d) 7 & 157 % 2
34. Who among the following is the first women 34. TR B W Afger whaw frey § & g 7
Speaker in Lok Sabha? (@) AT b) fi ,
~—+8 Meira Kumar (b) Urmila Singh = ) Rie
(c) Sushma Swaraj  (d) Pratibha Patil (©) g1 W (d) wfter mfesr

T



@Atcurding to Economic Survey 2023 about 35

services, which statement among the following is
not correct?
a) Credit growth to services is above 16% sinced:

July, 2022. DQEZ

(b) 75 digital

7 transforming financial services, -

(c) P.M.l. services witnessed strongest expansion

. since July, 2022.

(d)s Fashion, grocery and general merchandise
will be captured nearly two-third of the Indian
e-commerce market by 2030. o

b - &
/ banking units announced fmgé

e

36.

arrange them in chronological order — %
(1) Balaji Viswanath .
(Il) Bajirao |

_ (1) Narayan Rao
(IV) Madhav Rao |
Select the correct answer using the code giveny,
below — E:
Code- . %

AL, (b) 1, 111, 11, IV <
(©) 1,1, v, (d) 1, 11, 10, IV

37. Which one of the following is theﬁr__g_g_sj_qggl
producing centre of Ukraine? L

(a) Kharkiv » (b) Zaporizhzhia I
{LF]' Donetsk (d) Kyiv .. gg
38.” Which of the following statement is true? S

(a) Ocean salinity is maximum at the Tropic of

Cancer and Capricorn. x
(b) If the sun, the earth and the moon are in a

straight line then this 5ituat.l%?{7'he situation
of small tide. » A
(c) Benguela current is a cold current pf the
| %
,'|| (9 Tide comes on the earth every day after
[ exactly 12 hours 30 minutes.
@ Who authored the book “The Challenge of World
Pﬂ\ren.r.u?

(b) Amartya Sen

* (3) Jean Dreze
©) Gunnar Myrdal
(B-1-23] 153103

e
Consider. the reign of following Peshwas Enc{%’ 36.

ar.

38.

39.

B

. yarait @ an ¥ onfife wderr 2023 #, FrefertiE
FUE § § B9 G HUE w78 27

(8) em$ 2022 ¥ BiSE Trer WA 16% W H
g

Eb]?E_%‘ﬁﬁgﬂﬁﬁ?’Ts‘ﬂﬂgﬁaﬁWﬂﬁ?ﬁﬂ
arelt B qger @ forg B T 2

() Froaaré. daait ¥ 2022 Ters A HaH HOIHH
foram <@ T |

(d) der, Uhgd @R oFRe wHeEYd 2030 T
Wy e aaR BT & fererg

Ry ¥ arger W @ |
ﬁﬁrﬁrﬁﬂﬁmﬁa%mmﬁaﬂﬁwﬁwaﬁﬁm
qoT I BIEFAGER Saferd HIT — :
NEIGIEIREEEEL]

(1) TSR |

(111) TR ¥

(Iv) 5erd 7 | :
41 Ry T FE & WA S AT -
T -

(@)1, 1, IV, 11 () 1, 1, 11, IV
© 1,1, IV, 1 @ 1, 11, 11, IV

ﬁwﬁﬁqﬁmmmmmﬁ
Caui I

(a) @rfda (b) SR
(c) SewD (d) #ra
Rrefifiaa § § $9 W $UH G 27

(a) FETHITOG AU Hd Td HPX Nl UR
e il € |

{h}aﬁﬁ&r?ﬂmmwmﬁﬁﬁw.
Refie 1 s @1 Rerfer 2 |

©) F S TR B T v e |

(@ 9ot R W & 12 €2 30 frre ag TR

T 2 |
'faﬁaaﬁ%ﬂﬁéﬂhﬁ'wﬁiqﬁﬁ@?
sl (6) arfer o
(©) =R g S
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40.  With reference to the E.V. Ramaswami Nayakar,
which of the following statement/s is/are
correct?

(1) He participated in thMtlﬂn

Movement. =

_A2) He left the congress in 1925, i

Select the correct answer using the code given

below —

Code -
@) Only 1 ~Ab) Only 2

(c) Neither 1 nor 2 (d) Both 1 and 2
4. In December, 2022 New Zealand passed the
" world's first Law to ban smoking for. next
generation. New Zealand’s goal is to be “smoke-
TRE™ B covsonsisesmningiinn:
(a) 2025 ~tb) 2029
(c) 2024 (d) 2030
42. Plane of which Airline crashed in Nepal in
January, 20237

(a) Tara Airline (b) Nepal Airline

__[c) Yeti Airline (d) Buddha Airline

. What was India’s rank in the wgrld greenhouse
gases emission in 20227 (;:éb
(@ 10t (b)

(c) 11t Ad) gth

A geographical unit that cullen:ts,. stores and

release water is called -

(@) Watershed (b) Wet land

~(€] Water reserve (d) Waste land

45 With reference to the Human Development

Report, 2021-22, which of the following
statement is/are correct?

(1) India’s rank on the Human Development

Index has y%ra_qu_ from 130 in 2020 to 132
in 2022,

India’s rank on the Human Development

Index has stipped from 130 i in 2020 to 132 in
2022,

Select the correct answer uslng the code given
below~- ™

Code -
(a) B_uth 1and2
(c) Only 1

(b) Neither 1 nor 2
~4) Only 2

[B-1-23] 153101

40.

41,

45,

g8, wrarh Arge) @ wad ¥, FreafaRen o
#§ & Bw/W a8/

(1) 98 areEanT arerer # fewr form|

(2) 51 1925 # S B 91|

4= Ry MU HE FT UGRT Db HEl SR

Hf?p;f._

aﬁ._

(a) daa 1 (b) Haa 2

() T ar 1+ & 2 (d) 11 1 &= 2

fewmr, 2022 # wgofiele o sl 9N B oo
Wmuﬁa‘amﬁwﬁwmmw_

o fbar) =qufiele &1 @, o T
“HEUM YE B 2

(a) 2025 (b) 2029

(c) 2024 (d) 2030

AN, 2023 % Y UIRengT &1 e Sure #

SETATI gT?

(a) GRT UIREEA (b) 9Te TIRETET

() afer TaReg (d) gg1 vEvaET

2nzz#haﬁﬁmmﬂﬁ$amdqﬁw
| W W ogr?

(a) 104t (b) 124f
(c) 119t (d) odf

w%ﬁ%ﬁmﬁm‘rmﬁaﬁsﬁmm%

FIRTT Bl & TH U BIed 2wy sy ¥ —

(@) Sefawmrs - (b) 3 fy

(c) ot @7 B (d) =mef ufy

A e R, 2021-22 % weH #, Fy=ferfag

# W BT B W & /#0

(1) ¥ fawTe quaie § WRa @ 9o 2020 F
130 9 ST B1Y 2022 % 1328 T

(2) o9 R qudie ¥ Ra @ Soft 2020 3
1309 2022 % 132 7% iR ¢ ]

T W dE BT SULRT PRd WE IR BT 9

Y — '

{6"-
(@) gt 179 2 (b) 5 @ 147 & 2
(c) Taar 1 (d) ®aer 2
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Which one of the following is not true about the
total outlay in the Union Budget 2023-24?
(a) Interest payment- (b} Subsidies (9%)
0%)

State share of taxes (d) Defence (8%)

and duties (18%)
Match list-l with list-ll and select the correct
answer using code given below the lists -

List-1 i

(Theories of Population)
(A) Optimum Population Theory
(8) Social Mal-adjustment Theory
(C) Demographic Transition Theory — 2

46.

47,

(D) Population-Food Supply Relationship Theory—2

List- 1l
(Propounders of Theories)
(1) Thompson .
(2) Malthus
(3) Edwin Kennan
(4) Henry George _
Code - :
_Aa) A-(4), B-(3), C-(1), D-(2) 7
(b) A-(1), B-(2), C-(3), D-(4)
€ A-(3), B-(4), C-(1), D-(2) 7
(d) A<{2), B-(3), C-(4), D-(1)
. Which of the following is an insectivorous plant?
(a) Nelumbo _b) Nyctanthes
() Nicotiana (d) Nepenthes
9. The river situated along the border between the
United States of America and Mexico is-
(a) The Colorado (b) The Amazon
(¢) The Mississippi ) The Rio Grande
0. Which one of the following (Passes - States/U.T.)

is correctly matched?

)a) Niti— Uttarakhand (b} Aghil —Arunachal

Pradesh
(¢ Mana—Himachal = (d) Diphu—Ladakh

Pradesh

51, Trophic levels are formed by -
Organisms linked in (P) Animals only
food chain
() Carnivorous animals (d) Plants only
only
B-1:23] 153101

48.

50.

51,

e gore 2023-24 ¥ Got oRer ¥ FrfertEd
¥ BN T aE A 87
(a) =TT AT (20%) (b) WSS (9%)
(c) TR qd Yo # Xrou(d) XM Y (8%)
Y wrfiard (18%)

iﬁﬁiﬂﬂﬁﬁ-]lﬁgﬁfaﬂaﬂﬁmaﬁwﬂﬁﬁ?
T e 1 FANT B gY W ST I —

-1
(e @ figia)
(A) SoRger o Rigr
(B) ETIfoT SrqeATATe R
(C) ST YT R
(D) SreFeE—aTeT JAgf RAEr
gEr - i -
(Rigial @ wfaura®)

(1) PR

(2) AT

(3) TefaT @

(4) T8 ATot

o :

(a) A-(4), B-(3), C-(1), D-(2)

(b) A-(1), B-(2), C-(3), D-(4)

(c) A-(3), B-(4), C-{1), D-(2)

(d) A-(2), B~(3), C-(4), D-(1)

frefaRed 3 @ S Ue dicwe dEr 87
(a) g (b) At

(c) fpifearT (d) Aifery

wgaa w5y e ot MFwat @ 9 der =
ey 71 & — '

(a) PrArST (b) apto
(c) ARy (d) Rar i
e & 9 P W v (@ — W /B
R i) e &2 f
(€) AT ~ e o
- y3w (d) dg —
ey T
2) T sfge 3
ua}m @fw ©) Bt gt ¥
e @ Dot i




@ Which of the following (Union Budget 52. fpafafed § @ o1 & (@ I e
Departments 2023-24 — Allocation amount 2023-24 — AT Srdfed IR T ) WE wifyy
v/ approx. ¥ ) is correctly matched? g7 '
e) Dept. of Health Research — ¥ 9,155 Crore (&) wareess ey fopTT — 9,155 BXTS X
A0 Ministry of Health —X 89,155 Crore,. (b) TR #ATTT — 89,155 PE T
(c) Dept. of Health and Family Welfare —% 80,000 (¢) xaRey T4 URAR FEIOT FATT — 80,000
Crore >4 W 4 Ir
(d) Pradhan Mantri Jan Arogya Yojana — ?S,EIQD @ S R B :
Crore A E
With reference to the post’s in Secretariate of the  53. ¥we & wfoarery # usl & wad # ey #§ |
Parliament, which -::f the follawing stqtement,!s FITET ,,»—‘e{ Ty TE & /g’? ' |
is/are correct? (1) we= % . G ?PF R 3 ﬁﬂ I
(1) Common posts may be created for the
Secretariate of eacil'! House of Parliament.™¥” wfeafera wal ar W fepa < W ¥
(2) The Parliament has right to regulate the (2) EHE DI U fHE off wew & wiEEed
service conditions of Secretariate staff of W ] "ar Tt o7 bt s 3 |
either Huuse_nf it."'T IRER BT 2
ieEIIZ: ihe correct answer from the code given PN ﬁ'q % e W ~
Code - e - |
(a) Neither 1 nor 2 (b) Only 2 (@ = qr 177 & 2 (b) Bger 2
(¢) Only 1 ~d) Both 1and 2 (c) Faet 1 (d) S 1 T2 2
54. On 25" December, 2022, which of the following 54 25 AR, 2022 &1 fr=foreg 3 & g o9
countries extended mandatory Military Services ERT 1 W99l 2005 ;F‘: e, T T H_“'ﬁ _q% e
for one year to those males who were bur.n after @ 7% N WV AR B & T
01 January, 2005?
() Afghanistan »* (b) Myanmar ~ @ w (o) TR
{c) Srilanka 7 Ad) Taiwan (©) #heiepT . (O dEEr
85. Who is the Author of the famous Novel “All the 55 WIfdd PN [N, 2022 Uy =+ a
Lives We Never Lived”, which received the uRg SU=Y Usife § SR & o R’ @
Sahitya Akademi Award, 20227 _ oEEH B &7
@) Anuradha Roy (b) Shobha De ~ (a) SRR I (b) T S
(c) Anita Desai (d) Sudha Murthy ' (c) arraT guTE (d) germ 7fcl
56. Which type of wvaccine protect against 56. g wer @7 ST fRefiRar | g a7
Diphtheria? oft (8) THARTA. (b) aTERe AR
(a) mRNA 7 (b) Viral Vector » ;
(c) Toxoid ~d) Live-attenuated (6} e o) ST MC RS
e
73115310! e 2ot 32 1 A
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57. The aquatic plant commonly used as bio fertilizer

in the water-logged rice field is -

/,[-ﬂ} ﬁZG”H

(c) Wolfia

(b) Lemna
(d) Trapa

58. Given below are two statements, one is labelled
as Assertion (A) and other as Reason (R) -
Assertion (A) -

the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
Reason (R) — It is not mandatory for the President
to accept the proposal of the
concerned State Legislature.
Select the correct answer using the code given
below -
_A2) Both (A) and (R) are true but (R) is not correct
explanation of (A)
(b) (A) is false but (R) is true
(c) Both (A) and (R) are true and (R) is carrect
explanation of (A)
_ (d) (A) is true but (R) is false
9. Which of the following is known as Iqughing gas?

(a) carbon Monoxide 0} Nitrous Oxide

(¢) Chlorofluro Carbon (d) Ammonia

Who was the leader of rebellion in Bareilly, Uttar
Pradesh during 18577
(@) Nana Saheb - (b) Kunwar Singh

(©) Hazarat Mahal A Khan Bahadur Khan
d :h‘r::;: z?:uf D;he following is not a part of the
G i the Cunst:tutiun of India?
iy eopardy” " (b) Prohibition against
Self Incrimination
(d) Ex-post Facto Law

61

P"ﬂhih‘rtiun Against
Tl:ll'tur'e

\ ' Page 13 of 32

58.

The President can recommend to .

57. el ey R W W @i o1 @ @ A

Sre—wdve @ wq § wanT § ofngr odl § 9%

&

(@) it (b) QT

(c) afemar (d) gt

At o o & R & T Y AR (A) SR

gER BT HRO (R) FE AT E — |

mm}_ﬁm’;maﬁmﬂmﬂﬂ
R Tl W P A
sk g fog wegufy wefem
ey & fAgFHsd §R1 99
mﬁwﬁﬁﬂwwm

'a%ﬁmwaﬂﬁ%l
W[n;_?ﬁﬂﬁraﬁwwﬁﬁﬁﬂﬁﬂﬂ
LA g HAT AT e 2 |
AP Ry 1 g § 6w SR B gAY —

(@) (A) 3R (R) 2T e & e (R), (A) BT W
ARAT & BT &

: (b) (&) TTera & fg (R)ET &

58.

- 80,

B1.

(¢) (A) 3R (R) a1 weg £ &R (R), (A) B L
AT FHIT 2

(d} (A) | & g (R) ToAcT &

Frafeiee 7 & f&d &0 fer 2 areh i @

w9 H WA W 87

{aimwwibymmﬁ
G

(c) FARITART Pra= DI (d) s F
1857 % T, IR W2 # iRy 51 YT B o112

(@) T T b B Ri

(c) BoIRT wae ‘d}@‘fﬁ@??ﬂﬁ
Frafiea & & a7 i e o |

20 &7 fawr =18} &7 Eﬁa'iﬁa
@) TR Tvs A ey ) W% a1 g

? LR
{lﬂmﬂ%ﬁﬁaﬁm{d]mﬁ_‘,ﬁg%




L

. ja, 82 9IRGB AEUIA & wed #, Frfoiae womy
o to the Attorney General of India,
62. With refe;‘Ef:EZ following statement/s Is/are H ¥ DI AT/ HE B /B

z:i:;hn?u (1) FETIEEl & 9w W U @fim @ frife

(1) A person is appointed as Attorney General, erfl, @t 5 Sew =wmew @ ~Tgey
who is qualified to be appointed as a Judge of fﬁg'tlﬂ 2 & v afda &1 _

e Supreme Court,

{2]tr1"he Eltmmw Generdl ‘tan be removed (2) e F STS 9T § W Al 3
through the same process as the Judges of the BSHIT S Hpa & O 5 Seaad e @
Supreme Cou =araeer 3|

Select the correct answer from the code given T Ry v o & W SR @1 99 Hifvig —

below- = T — L

Code - 7 , :

(a) Neither 1 nor 2 (6) Only 2 @Fdariamd 2 (b) ®ae 2

(c) Both 1and 2 ~d) Only 1 (¢) g 1 qem 2 (d) waer 1

83. By which year the target of population stability 83. wRa ¥ SEET wfE @1 @&y frw af a9

has been fixed in India? : et e mr &2

(a) Year 2080 A2} Year 2045 (a) a¢ 2080 W (b) & 2045 7w

() Year 2070 (d) Year 2075 (¢) & 2070 @ (d) a§ 2075 7

64. Which one of the following pairs (Schedule - 64. fiysg Il 3 F Bl I (Gfeers & ST

Subjects) is not carrectly matched? — fa9g) w8 gHfera -8 27

A Ninth Schedule — Allocation of seats in the (8) 7l arget — wroweT ¥ It T ades
' Council of States : - 4 . .

(b) Third Schedule - Forms of Oaths or ol A P woH
~ Affirmations (¢} amedi SR — g

(¢) Eight Schedule - Languages - (d) wdi arpeEh — T uftadT o IR W

(d) Tenth Schedule - Provisions as to ' S—
disqualification on ground of defection

85 Match list-1 with list-ll and select the correct 65 | @Y WA @ gHferd i qer qErar @
answer using the code given below the lists - RERCE R B R R e T A —
List - 1 : . -l
(Sustainable Development Goal) Egﬁ faere o)

(A)SDG-10 ~ 3 (M) TS, - 10

(B)SDG-13 — | (B) THAH. - 13

(C) SDG - 14 (C) THEish. -14

(D) SDG - 15 (D) THESA. - 15
List- Il 'ﬂ"rﬂ-ll
(Related With) (e

(1) Climate Action (1) Setarg fpar

(2) Life on Land (2) 9H o Sfraw

(3) Reduced inequalities (3) sreHTTRl & o

(4) Life below water (@) 9 & Y w1 Fraw

Code - e —

(8) A-(3), B-(2), c-(4), D-(1) (8) A-(3), B-(2), C-(4), D-(1)

() A-(1), B-(2), C-(3), D-(4) (b) A-(1), B-(2), C-(3), D-(4)

() A-(2), B-(3), C-(1), D-(4) (€} A-(2), B-(3), C-(1), D-(4)

A4 A-(3), B-(1), C;(4), D-(2) (d) A-(3), B~(1), C-(4), D-(2)
[B-1-23] 153101 Page 14 of 32
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§6. Which among the following is a constituent of

natural silk? _
(a) Phosphorus (b) Potassium
e} Nitrogen (d) Magnesium

on which of the following, proved charges the

O

Y/ gritish P.M. Rishi Sunak?
)?J Disclosure of Secrew{':y Sex Scandal
of the Cabinet
. (¢) Tax Scandal
68. The Indian Biologic

finance Minister Nadhim Zahawi was sacked

from the Government in February, 2023 by the
biictinancl { Sonaioiy

(d) None of the above
is being set up

in which state? Pardoh ok
(a) Gujarat _Ab) Haryana
(¢) Uttar Pradesh (d) Punjab

69.} ‘Mount Newman’ is famous for which of the

following minerals?
#\3) Copper « (b) Manganese »
{c} tronore » Ad) Bauxite

70. ‘Which of the following is not an economic

activity?
_lar Voluntary Social (b) Farming
Service
(¢) Service (d) Transportation

1. With reference to the Puranas, which one of the
following statements is correct?

(1) Information about the Mauryan drnaSt"" is
found in the Vishnu Puran.

(2) Vayu Puran throws light on the Gupta’s
yayulineal il o
governance system. _—

_4a) Both 1 and 2 (b) Only 2

{e) Neither 1 nor 2 (d) Only 1

72 Which of the following (Scheme — Year) is not

correctly matched?
(@) sansad Adarsh Gram Yojana - 2014 .

wBkbeen Dayal Upadhyay Gramin Kaushalya

L]

~ Yojana - 2014
(€) Shyama Prasad Mukherji Rurban Mission -
2015 S

{d) Rural Housin .
g Interest Subsidy Schem
e-
[B-1- -231 153101 .

67.

9.

- 70,

71

frfafas % ¥ wepRis W &1 U@ gCP i

¥ .
(a) BIERRE (b) greRRram
(c) rggra (d) AR

Prefafag & @ e fog A9 @ IER W
s, 2023 @Y ffew werEEAl Fd GTP &N
m#rmmﬁﬁfaﬁmﬁﬁ#wﬂﬁaaﬁm

oT?

(a) HATUE B (b) Har hvsd
Troerar |97
® BRI

(c) e TbUSH (d) SuZa § & DIE AL

mﬁﬁtﬁﬁfﬁéﬂﬁﬁmmﬁmﬁﬁﬁm
T VET 87 '

(a) TR (b) sftamem

(c) SR wew (d) doTE
q##ﬁmﬁ-riﬁﬁﬁﬁﬁmaﬁm%ﬁ?

ufdrg &7

(@) =En (b) H=ar

(c) diiE TP (d) gFdTST

ﬁmﬁfﬁfﬁﬁ#ﬂ%ﬁﬁaﬁ%%ﬁﬁﬁ?

(a) Wio® |H Wl (b) fareTT (&)

() HiH (d) gRRae=

i & wed ¥, Frefife werl # /B
@ & -

(1) Ry gerer < A e @ SR e 21
(2) aRg GRIOT T 99 @) ATHA SHGRI G WHTEl

 STerT B

(@ = 170 2 (b) Bt 2

(€) Far1+m & 2 (d) Baer 1
- Frefofed & @ @9 e i

i 78 27 S~

(®) e Siadt A Ao - 2014
2014 , i
(
;’:: mim;. Tt o frert — 2015
b FORT WSS W@ - 2017

T e i )

U




73. What do we call balancing the need to use
resources and also conserve them for the future?

(a) Resource » (b)l-Sustainable
conservation development

() Futtre resources  (d) Reducing

r'r: > P'cunsumptiun
4. Cunsi@gr the following statements concerning
the p@ers of the Supreme Court to issue certain
writs to stop violation of Fundamental Rights -

{1) The Supreme Court has power to issue writs
like Habeas Cr::-rEus', Mandamus, Prohibition,
Quo Warranto and Certiorari which s
appropriate for . the enforcement of
Fupliamental Ri .

(2) Pdifjament may by law empower any other
cofR to exercise within its jurisdiction the
powrers given to Supreme Court.

Which of the above mentioned

statement/statements is/are correct?

Select the correct answer from the code given

below —

Code - _

(8) Nfither 1nor2 (b} Only 1

(©) Orjly 2 —+d) Both 1and 2

75. The '@SAR satellite” is jointly developed by
which'of the following organizations?
(a). ESA and NASA {b) ROSCOSMOS and
CNSA
_Ac) 1sSROand NASA  (d) ESA and ISRO
76. Which of the following statement is correct?

(1) RafrGanga river joins the Ganga at Kannauj. 2
(2) River Betwa joins the Yamuna near Prayagraj X
SelecCxhe correct answer using the code given

below —

—

78. Wl @ ST qu 4fas & R S HRew

74,

75.

8.

A s B AR D B E T PEQ

#
(a) SrETFT ERET (b) W fawre
(©) Wi & warE  (d) @Od ® HH DA

4y SeaaH <aRITeR @) Aferd ARERI T &

JEY @ forv Re o o @1 ufed @ e |

3 oA Ry MY 87

(1) S =ITETeRl &1 4 O wew € {6 98
& yeiewe, ARy, wody, SR -
Waﬂ?@fﬂﬂwﬁaﬁﬁﬁﬂﬁmﬂ
o B B fore w8, 99 Re &1 5
oY HHdl B

(2) HoE @1 AR & 5 a8 B a1 R &0
S T B AT EEIREG I
Al @ fiar Seeme ey @ & T8 9
sfderal T UTAT B FHEAT © | '

IR HUET A BT/ SR GE 8 /8P

9 Ry MU wE H W WEl SR @ udd

BTG —

?“;E.__

(@) =7 &1 197 & 2 (b) e 1

(c) @ 2 (d) 13w 2 gHF

"R Sugs” Frefifad & @ 5 waedt g

e w9 ¥ e frar w2

(@) E0EY, AR 9T (b) IvEEN s A
TAHN. g L

() o afiR = (d) uHY. s sEvy

Ffafed oem 4 9§ o599 w1 w27

{1l?ﬂ*n?€raﬁﬂma%'wmﬂﬁnaﬁﬁﬁa—ch
|

{ﬂa;ﬂﬁ?ﬁw?ﬁ'mﬂuﬂmqﬁﬁﬁaﬁ

|
Code - ﬁ_ﬁqw@ﬁ“ﬁwﬂﬁ?’—
(a} Only 2 (b) Neither 1 nor 2 a)
Ac) Only 1 (d) Both 1 and 2 :::c]?: E i :2: ;;ﬁ 1 82
77. With reference to the invaders in ancient India, 77- WM @ B IRE WY Gﬂiﬁﬂiﬁﬁi zﬂﬁu #
which one of the following is the correct : - '
chronological order? frrfemes # & i U el BIAThH &7
(@) Greeks - Kushans - Sakas (@) A — T — e
(b) Sakas — Greeks — Kushans (b) orF — tﬁ;ﬁ — FToT
AS) Greeks — Sakas — Kushans (0) TR — 31 — AT
(d) Sakas — Kushans — Greeks (d) ¥reh — FuToT — :i;.mﬂ
[B-1-23] 153101 Page 16 of 32
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Eb,r which of the following Acts, the system of
«Chamber of Princes’ with 120 members was

L}

cr'é‘a_ted?
_da) Charter Act of 1853 (b) Act of 1919

(c) Act of 1909 (d) Act of 1793
79. 'Which of the following hormones is secreted by

the Beta cell of Islet of Langerhans of Pancreas? &

(b} Adrenalin

3778

(a) Glucagan
) Insulin (d) Aldosterone
80. Which of the following elements is not a Noble
gas?
(a) Argon ~1b) Actinium
(c) Krypton (d) Radon E

ce to'the Pope Benedict XV, whn%

with referen
llowing statement/s;S
s

died recently, which of the fo

is/are correct?
1. He was a native of Ge .
2. He was the first Pope to resign in 600 years..~

select the cﬂrEELg_rls_?-'_er using the code given
it R

)

78.

9]
S 79.

80.

81.

© (a) W

frfefag & | feg afafga &mi, 120 e
T R aitw T @ e B TR of?

(a) 1853 @7 =Y Cae (D) 1919 @7 rfEIfaH
(c) 1909 @T afrm  (d) 1793 T
ﬁmﬁﬁa’ﬂﬁ#mmﬁmﬂﬁmﬁﬁmﬁﬂ
a?amﬁaaﬁﬂﬂﬂﬁ{ﬂ#ﬁmﬁjﬁmﬁﬁﬁ
e 87

(&) TSI (b) e

(c) g (d)
ﬁwﬁ:@aﬁﬁaﬁﬁmﬁwwﬂﬁ%“
(a) amrie (b). pfaefaH

(o) fre (d) TR

o feae wIeEd,
fﬁﬁr—dﬁﬁﬁﬁrﬁrﬁﬁmﬂﬁﬁﬁqﬁfﬁ
wd B /87
1.ﬁﬁ$l{aﬁﬂﬁﬂl
gedfi! A

2 gg 600 T
ﬁﬁﬁﬁﬁﬁﬁﬁﬁgﬁﬁ;

(b) waa 1

qﬁﬁﬁmqﬁﬁa’?ﬁmﬁwaﬁ%—
(b) uftr gRTS

(c) wiel (d) affadroTT

fadaw, 2022 # “qee TER W ST Hel
oy T °a1?

(a) 9TR W_Y (b) ITTRIT
() eI (d) 7& g2

ﬁﬁﬁwﬁmﬁwﬁwﬁ?ﬁ?ﬁﬁﬁmﬁ
S fpadT o 27

(a) grtveaRml &1 (b) Rl B
(©) w4 T (@) sprerat B
R Y

below —
Code - : 4
(a) Both 1and 2 (b) Only 1 e
(c) Neither 1 nor 2 Ad) Only 2 %
82. ‘Which of the following factor is the mostE 82.
important factor for the lost of biodiversity?
(a) pest control /ib]' pestruction of
natural habitat
(c) Control of predators (d) Genetic assimilation
: I 3.
83. The Xylem In plants 15 responsible fnr%
~ transporting - g
(a) Food (b) Amino Acid -
I8} Water (d) Oxygen
E‘.‘:' Where was the wgydarshan prahar Army B4.
Exercise” carried outin pecember, 20227
(@) Uttar Pradesh ) Rajasthan
(€} Gujarat (d) Madhya pradesh
33"’ To whom does the credit BO€s for the 85.
development  of coconut  and sugarcane
agriculture in Philippines?
(8) Hollanders (b) Britishers
_8) Spanish and (d) French
. Americans j
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origin —

Rivers Place of origin
(A) Yamuna~ & (1) Sihawa T
(B) Krishna =% (2) Nasik 3

(C) Godavari — 2 (3) Mahabaleshwar
(D) Mahanadi — |  (4) Yamunotri
(@) A-(4), B-(2), C-(3), D-(1)~
(b) A-(4), B-(2), C-(1), D-(3)
~— (©) A-(4), B-(3), C-(2), D-(1) -
(d) A-(1), B-(2), C-(3), D-(4)

87. Match list-1 with list-Il and select the correct

answer using the code given below —

List—=1 List-ll

(Mountain) (Countries)
(A) Kilimanjaro — & (1) Morocco
(B) Toubkal -\ . (2) Algeria
(C) Stanley — (3) Tanzania
(D) Hoggar — 9 (4) Uganda
Code -

4 (a) A-(4), B-(2), &.{31, D-(1)
(b) A-(3), B-(4), C-(1), D-(2)
&~ A-(4),B-(3), C-(2), D-[l::] :

86. Make the pairs of chief rivers of their place of 86.

87.

e %)y AR 7 T ST T D
gAY -

st R
() T (1) Ryemn
(8) FI ﬁ IR
(C) TTETaer 3
(D) WETTE (4) TR

(a) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(2), C-(1), D-(3)
(c) A-(4), B-(3), C-(2), D-(1)
(d) A-(1), B-(2), C-(3), D-(4)

| B G-I & gaferT AT T G &

A Ry 1Y HE & wE IW ?4”':%—
- —
(wete) (@)

(A) FrairiaTrY (1) ARTHT

(B) g (2) sreohfRaT

(C) ¥elt (3) et

(D) BIFIR (4) grieT

ﬁe‘ i

(2) A-(4), B-(2), C(3), D-(1)
(b} A-(3), B-(4), C-(1), D-(2)
(€} A-(4), B-(3), C-(2), D-(1)

—44 A-(3), B-(1), C-(4), D-(2 (@) A-(3), B-(1), C-(4), D-(2) -
88. Which one of the following (Lake — Country) isnot ~ 88. Rrsfafag & @ DI (S — HHferd
correctly matched? : &l 87 ' L
(aJ Maracaibo - (b) Michigan — United (a) WRTBTZET — (b) FTT — oy
&) Venezuela State of America RIS ]
| . I it
Onega-Canada  (d) Baikal - Russia — o © S - FERT  (d) YT — T
Who has written the book “From Dependenceto 89 “tfg fUsw = 4o Ramig- W - e rers
Self Reliance”? _ g — % -
&/ (@) ¥, venugopal Reddy (b).Bimal Jalan (8) s, AT XE  (b) fywey TR
(¢) C. Rangrajan (d) Raghuram Rajan » (c) . SR (d) TR I
%0. With reference to the representation of Uttar 90. ez # SR W P w3 werd
Pradesh in Parliament, which of the following PrfifeT som ¥ ¥ 3Fm 1
statement/s is/are correct? b e /8
(1) Uttar Pradesh has 31 seats allotted for Rajya ()30 & & o wer e Y 31 4 et
Sabha, — g
(2) B0 members of Lok Sabha are elected f
Uttar Pradesh, .__— S e 2 80 VIR SR 5w W Fraifer
ieilect the correct answer using the code given Sl '
elow -
3 e R v Be & W@ e g —
(@) Only 2 () Neither 1 nor 2 = __E
(c) Only 1 9 Both 1and 2 8 £ Oamiag,
- Sl v (c) e 1 (d) S 1520 2
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61. ith reference to the Captain Hawking’s, which
v q-_'_——-—-_
llowing statements is correct?
of the fo g s correct?
(1) He came to India in 1611 as an envoy of

s F. qgn¥

James — .
(2) He was very EEII versed in Turkish language.
(b) Only 1
(d) Both 1 and 2

)éi}l Neither 1 nor 2
Af) Only 2
92. Which one of the following is the main objective

of Janani Suraksha Yojana?

=

I3 Reduction in maternal and neo-natal

mortality rate .
(b) Reduction in maternal mortality rate only
%
(c) Reduction in infant mortality rate only

(d) Reduction in neo-natal mortality rate only

@ The resignation letter by a Judge ‘of Supreme
Court is addressed to -

Be ;tﬂl The President {b¥ The Chief Justice of
~ India
(c) Thelﬂrime Minister (d) The senior most
’ Judge nf.Supreme-
Court

9. With reference to Union Finance Commission,
which of the following statement/s . is/are

correct?
(1) Finance Commission has a Chairman and six

—

members. ¥
(2) It submits its report to the NITI Aayog. ..
_Select the correct answer using the code given

below — '

Code -

(@) only 1 ~—10) Neither 1 nor 2
€) only 2 (d) Both 1 and 2

" Hangul-deer is found in which part of India?
(@) In Assam —T In Jammy and

Kashmir
(¢} In Rajasthan

9. B eife B Wk §, Freferfe ol 9
I A1 TE &P
(1) 78 16113 o7 — | @ g D © A ARA
T | |
(2) a8 gt ey 1 9ga et T <A

@aariardz (b)) a1

(c) Baet 2 (d) T 1T 2
ﬂ-Wﬁﬁmﬁﬁﬁqwﬁwﬁwmmﬁﬂﬁ'

TE S5 &7

{a}mﬁﬂaﬂTW‘ﬂﬂﬁﬁ
(b) e g Feg <X A P
{c}éﬁaﬁrgﬂﬂﬁﬁﬁr
{d}aéaammﬁaﬂraﬁl

93. ﬁaw%ww&ﬂwaﬂm—ﬁ
Heifee gar & — :

(a) wreeafer @ (b) ¥Re & q&A

T B
(d) wafes =urTeg &
aRTd IaTdier ®
% wu fa e & wed ¥ frafafeg § 9
DI/ e wEr & /&2
(1) Ry s % o semer o w: e @ ¥

(2) 7 S wfcees iRy st @y
8 WA Bl

TR G ¥ ¥ W s ar

(c) werHET &1

@- 3
::::Tl = dr1mr 4 2
Eﬁmmﬁéq D1 22 |
@
8) w5 {b}wgsﬁ-\rw
Doy




:'.RI

ARE @ @ Iou F A aReg B TS B Wy

9. With reference to the composition of the 96 :
Legislative Council in a state of India, which of the ¥ =g FrET /| FAT e B /&7
following statement/s Is/are correct? ; (1) TF fEr qfge ¥ 99 I DI Ay A
(1) In the Legislative Council there may not be e

more than one-third members of the total T G ko m ALl b
membership of the Legislative hssemblv of - 78 B wad F
that state, iz}wmﬁﬁﬂﬁqﬁﬂaﬁﬂmﬁmm

(2) The Legislative Council of a state must have at e e & BN AR
least forty members in it._~ _

Select the correct answer from the code given A9 Ry 77 Ge F e SR BT 94T BN -

below- — TE —

Code - ke b

_(a) Both 1and 2 (b) Only 2 B R L 2 b E i

(e} Neither 1 nor 2 (d) Only 1 (c) 7 & 19T &1 2 (d) L

97. Tappa style of music was refined and developed  97- Wifia @ zur defl fFmferaa 4w 5 7w

_in which of the following Mughal Emperor’s TEE @ evaR # qﬁgfa vd A g';z‘?

Court? . _

() Akbar (b) Shahjahan (a) areFev (b) MR

4T Muhammad Shah  (d) Jahangir (c) gewig W8 (d) wiErfR
98 With reference of the election of the Vice - 98 WRg @ wSwrgufy @ fafes, R wd=

President of India, which is declared void by the e g7 I Bt fhar T ®, @ wed |

Supreme Snur} of Im:_lia, which of the following frer § § B9 w1/9 BuT 98 %/-g?

statement/s is/are correct? _ :

(1) The acts done by him as Vice — President (1) SIS & 9 F §6 FoR B Ewow | qj
before such declaration are considered valid.*" SHS G Y v HrEiff A 2§

(2) The acts done by him as Vice — President on (2) STy @ w0 H 39 YR H geom 2R
the day of such declaration are not considered @ 29 9u® g 5y v SRR g =8
valid. - P _ Y #|

zzllz-: fhe correct answer from the code given a3 R T o B _

Code - VR RE -

(@) Both 1and 2 M) Only 1 (a) ST 132 2 (b) ey 1

(c) Only 2 (d) Neither 1 nor 2 (&) et 2 (@ 7 & 197 8 2

99 Match list-l with list-Il and choose the correct 99. Wefi—I @) -1l Fhfera FfTT Fer 9 fio
answer using the code given below the lists — Y ae T 9E IR gy —

List ~ | List - Il T . Al
(Archaeological slte} (Present location) el (G W)

(A) Nevasa _ (1) Rajasthan (A) (1) ST

(B) Isampur (2) Tamil Nadu (B) SRR (2) afrerTrg

(C) Didwana — | (3) Maharashtra (C) Sream (3) HERTS:

(D) Gudiyam cave -2 (4) Karnataka [n] 'IFE?ITFI TH (4) Ftes

Code -

(a) A-(3), B-(4), C-(2), D-(1) {aJ A-(3), B-4), C-(2), D-(1)

(0) A-(3), B-(2), C-(4), D-(1) (b) A-(3), B-(2), C-(4), D-(1)

) A-(3), B-(4), C-(1), D-(2) (¢) A-(3), B-(4), C-(1), D-(2)

¢ (d) A-(4), B-(3), (1), D-(2) (d) A-(4), B-(3), C-(1), D-(2)
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. with reference to the SCO Film Festival-2023, 100, W‘\lﬂgﬂ' freq WEIwTa-2023 @ wd A
which of the following statement/s is/are Rre=fafrd wort § & @ @1/ a8 8/

correct? | _ \ vt et e A G »

1, The SCO Film Festival is being held durin
. The ‘ | :
ndia’s  Presidency of the Shangha AR q;?ﬁaﬁ forer weieera Sraforey 132
GIT RET & |

Cooperation Organisation, .— : |
2. e LAl e eieag # vasden <u @I

7. 5C0 Film Festival will showcase the films from

the SCO countries. __— fral} R .E.I A
9 RY T FE & yEe @ el SN P

Select the correct answer using the code given _
below - I BIfg —
cadi: k : o - :
(a) Only 2 (b) Only 1 (@) Has 2 (b) et 1
(c) Neither1nor2  _4d) Both 1and2 (© gar1ardr2, - (03I 1792
01. Which of the following statements is correct 101. fFifoiRae wemt & & oevme Ad @ Ry A
about laterite-seil? | P |1 HUH FE 87
(1) This soil is developed in areas with_high (1) 7 fg) S=a wIge gF 9T aul Eﬁa\ gt §
temperature and heavy rainfall—" et Bt & ]
(2) Itis poor in iron oxide and aluminium. x _ iziﬁﬁﬁﬁaﬁgmﬁq@ﬁmaﬁ
Select the correct answer using the code given - A1 ardr G‘!‘cﬁ 2l -
below — i fag T g A ﬂﬁ IR gAY —
Code - : | L i
(@) Both 1 and 2 (b) Only 2 (@) 2¥T 12T 2 (b) Hae 2
(c) Neither 1 nor2 A& Only1 (c) 7 & L7 & 2 (d) et 1
102. Which among the following (Provision — Part of ' 102 PreifdRem # ¥ T W (AR — W
the Constitution) is Mﬂﬂaﬂh&d? “T'TJ el Rﬂ'ﬂlﬁiﬁ ;F'E?f -4
_A2) Tribunals — Part XI : 14-A- (@) eﬂﬁ'ﬂﬂﬂT Rnseton
(b) The Union Territories — Part Vill (b) e XToU &= — AT VIl
Part X | (c) e SR W &= — WA X

() The Scheduled and Tribal Areas=
(d) Official Language — Part XVII
103. Consider the following deserts and arrange them

(d} ¥TSTHTET — | XV
103. ﬁ'ﬁlﬁmﬂ Qﬁﬂ;ﬂ:ﬁ W fEr W — G%

in i“_t‘:r_eas_mw{frﬂm smallest to TP IHR B Tdﬁia‘q # arafierg ?ﬁﬁm (i'-‘iﬂ'@l
.Iarlem_} = B ¥ 99 ﬁ‘x‘{-‘[ﬁ' ﬂ'ﬁ] B .
() Great Sandy desert . (1) 3e ALY wowrm

() Arabian desert ) 3R

() Sahara desert (1 RRpe

(IV) Gobi desert (1) STETRT Wy

Select the correct answer Using the code glven (V) Y ORI

below - 3 fry
o 11, 1, v, (b) 1, IV, 11, 111 @ ]:q T W SR gy

) u, 1,1 AL, i Al

I, v — -_— 1, v ©, v, 1,

R - Pge2iory : @ 11,1y, gy
' ' [ Ty




s L1 8 b
W NN e i—_— | e
B— %

104. as Per Social Progress Index, released in 104 fwfaR, 2022 # Wt wrnfore werfa TTD 4
December, 2022, which of the following are on FgaR fear—| ¥, Frafofea § 9 @i+ :f;n%‘wﬁ

top three positions in very high social progress in

Tier-1? gmifors wfa & i &9 et o &2
~8) Pondicherry, (b) Mizoram, Himachal (a) TifEa ), wergT i (b) AaRE, Rams
Lakshadweep and Pradesh and 4 adakh T U9 AR R
Goa ' - :
AnTeve AR (d) Sude § 9
(€) Kerala, Nagalar;g ‘g:l} None of the above - (©) o, - e
and Meghalaya GEIEE

105. Consider the following statements about 105. Tuwefy e & Wyl # fA=ferRag B

sustainable development -

- faEr #ifg -

(1) Based on the global indicator framework and (1) Ias wEs waT T T Hilewy
data produced by N:?n_tiunal Statistical gl R Uegd vd & amR g
A, B i ol A

——'_-_.'-J_ m
General presents an Annual Sustainable b i W
Devélopment Goal Reportss — - RAIE sreqe o<t &1 P
(2) Global Sustainable Development Report is (2) 49w werrelig fwma Rae & o Rkt

produced to inform, the quadrennial IS AR H wgaifte garefa e
sustainable deueldpmerl___:t goal review @ & faval B geRraee —gg TR @
deliberations at the U.N. General Assembly ' W & |
once every quarter. »&4 " : f ;

Select the correct answer using the code given e fﬁq R ™ ' Wl SR 7

below — ' : 3'_' T — _

Code - : : B — i '

(@) Both 1 and 2 (b)- Only 2 e (@ gHf 19d 2 (b) Baer 2

() Neither 1nor2  _i# Only 1 (©) 7 ar 1+m &2 (d) Faer 1

106. Given below are two statements, one is labelled  106. T S pu F Rt W UF B aAfimer (A
ii:s:rtiu:ﬁ{}ﬁ} a:: n:har_e;s Rtea;son {R]ﬁ_ o te A THY B BRI (R) &aT oy & —
ertion (A) — The President is a part of the . R o :
| Parliament. — {A}‘ kb ¢ T 8
Reason (R) - A bill passed by the two Houses of PR (R) — W & aﬁf Al g1 e far
the Parliament cannot become a ' RO BT wewly @ e B T
law without the assent of the T HPpar 2|
P"”"’E"t-r/_ . | R T A @1 s v g @

Select the correct answer using the code given o

below - i o T o3

(@) (A) is true but (R) is false . (@) (A) ¥ & frg (R) T #

—10) Both (A) and (R) are true and (R) is correct, (b} (A) 3R (R) ﬁ_ W E AR (R), (A) B T
explanation of (A) SHTET e %. o |

(¢) Both (A) and (R) are true but (R} is not correct © (R)8IR (R) I 5 &, g (R), (a) B &

explanation of (A) Tl e v §

(d) () s false but (R) Is true D (a) e & g (R) Fe &
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Y (@) urine

107, which of the following events was the last in
chr—:::nu!ugicai order? : L
(@) Home Rule yons  © Jallianwala Bagh \*!{
Movement -

(c) Khilafat Maw\eqment (dLMoplah Revolt=L 22

108. which of the ful‘uming is'not a biodegradable
polluter? o e e W

~b) Pesticide
(c) Domesticwaste  (d) Faecal matter

109. The "Agenda — 21" of Rio Summit, 1992 is related

to-

(a) Preservation of
ozone layer”

(c) polluter — Pays
principle =

110. pesert dwelling animals are called -

_fa) Xericoles animals (b) Terrestrial animals
{c) Arboreal animals (d) Fossorial animals
111. Which one of the following place Is the

confluence -of the river w and the

_Ib) Sustainable

*  development

(d) Environmental
education

=

07 Fremms 41 gfe @ Prafafe ool § 8
BT aifer &

(a) 8% v aiigrew (b) Wferararar 9
' ETHIS
(o) R aifeter () Hren fwTE
108. Prefarfs § & @1 w1 AT HTP TE
&
la) 7= (b) reTITR
(c) ere] arafire (d) wret e
109. Rt Ry TR, 1992 FT “Toiei-21" Haf
LI _
(a) i ORE @ (b) e fr 9
e A
(c) wgu® — YA (d) wafaxor frem @
forgia @ :
11D~%ﬁﬁaﬁﬁmm~aﬂ%mwamﬁ%—
(a) T wietaR . (b) IOl SR
' (6) gerarl SR (d) fareT &= TTel SATTAR

11, Prefforfae ¥ 6w IE W ST T
ﬂFf'I’\’.ﬂﬁﬂ'r?iﬁ’lﬁﬁﬁ%?.

Bhagirathi? (a) ¥ wATT (b} ot ST
_{2) Dev Prayag (b) Karn Prayag | © ey T Y o

(¢) Vishnu Prayag (d) Rudra Prayag ) N

112. Seaweeds are important source of - 112. gl E‘EEII; Eaik 'EEE{E} ‘ &
(@) Bromine AP} lodine o . @) e D
(c) Argon (d) Chlorine ) ! e e A

113. Which of the following statements is not true 11_3' WI = qﬁh 5 %“?" St W i
regarding ‘Gram Sabha'? ) ;

(3) It has the powers and functions at the vilage ié?‘ ﬁ%ﬁrﬁ I ol i‘i’r; TR W S Wﬁaﬁ
level, like state Legislature higak the 1= - gl W e N
level. '

Brits powers are determined by the central . ©® m@iﬁ?ﬁ & PR =l SR D
Government. : A L . S

(© 1t is a Village Assembly consisting of all (©) 75 T UM KR P w8, e damd ®
registered voters in the area of Panchayat. & & i goliga Faern affafad B 2 |

(9 (a) and (c) both (@) (@) 7T (c) T :

114. Example of Lotic ecosystem is - 114. wifes wRRuRra o 1 SR & —
&) swamps (b) Ponds B ::: %I:EI (b) TTetTE
—=T%) Rivers (@) Marshy area | (d) erers &= (Aredt
o e Q'RI")
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115. What was the name of the female Regiment
constituted as a part of the Azad Hind Fau] by
Netaji Subhash Chandra Bose?

(a) Bharat Mata _A®) Rani Jhansi

Regiment Regiment
(c) Rani Bhabani (d) Veerangana
Regiment Regiment

116. Which of the following Scorpene Class
g o Mo

Submarines was commissioned into Indian Navy

in January, 20237
(a) INS Vela (b) INS Kalvari
(c) INS Karanj _4d) INS Vagir
117. Eastern boundary of the Harappa culture is
indicated by which of the following? . \
(a) Manda (b) Rakhigarhi-
_{e¥ Alamgirpur " (d) Harappa

118. With reference to 'PM Gati Shakti Scheme’,
which of the following statement/s isfare
currer.t?
(1) The PM Gati Shakti Scheme-National Plan was
launched in 2022. * :
(2) The PM Gati Shakti Scheme pertains to seven
engines (Roads, Railways, Airports, Ports,
Mass Transport, Logistics
Infrastructure). NIP will be aligned with PM

Gati Shakti Framework. <~

‘Waterways,

7. Select the correct answer from the code given
below -
Code -
~18) Only 2 (b) Both 1and 2
o (€ Only1 (d) Neither 1 nor 2

119. |n which vyear, “Mid-day Meal Scheme” was

rename_g as “P.M. Poshan Scheme"?
(a) 2018 (b) 2020
(c) 2019 ~d) 2021

115.qmgﬁwaammmf%€ﬁm$
%ﬁﬁmﬁnﬁﬁqﬁmmﬁﬂm

o7
m .
E (a) wre #mT YEE ) T i e
;3_. ©) <. s e (o) AT YRR

-
—
[53]

. Preafrem 3 @ frw wid Ao A T @)
Sl 2023 3 e = # wfie far
(a) ETATE, daT  (b) SMEYAYH. Hea!
(¢) M TATE FYe  (d) SMETATH. AR

=
%ﬁwﬁ‘imﬁﬁﬂzﬁhmmﬁqﬁﬁﬂiﬂ
@1 i #war &7
(a) HIUST (b) TRFTTE
(c) SMTerIRYY (d) g
. Gy wfraf @ @ deof ¥ Feffed §
03 < /4wt T £/
< (1) o TR AT BT AR 2022
H fdear 4T o)
(2) AT AR T A (TTIAME)
o (W, Y, TR, dexel, o
CWaR WM, s AR SR ofRiRes
| SEEvEAT) & HaftE gt dom, i
- U @i ® T S |
ﬁﬂﬁfﬁﬁﬁﬁﬂﬂwgﬁ_
T —
(a) ger 2 (b) ST 1 8K¥ 2
(c) ®aet 1 (d) 57 ar 197 & 2
118, " s g @ 1 s o
ferw o ge=ifae far e
(a) 2018 # (b) 2020 #
(c) 2019 # (d) 2021 %

. 1083778
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120. with reference to the “EL-NINO”, which of the
following statement/s is/are correct? \ |\

(1) El = Nino involves appearance of warm
current of the coast of Pery in eastern pacific. .~

(2) This warm current increase the temperature

of water on the Peruvian coast by 10°C there
by increasing the ameunt of Plankton in the

sea. A
Select the correct answer using the code given
below -
Code - .
(a) Neither 1nor2 &} Only 1 o
(c) Only 2 (d) Both 1and 2 1“:,;

i21. Shivanasamudra and Kalpakkam are respect@ly
important for - .
Hydel Power and
Nuclear Energy
(c) Solar Power and
Nuclear Energy
122. According to the Union Budget 2023-24,
many skill India international centres are té~be
set up across different states to skill yout

“(b) Thermal Power and
'Nuclear Energy

(d) Nuclear Energy and
Hydel Powers-

in{Ernational opportunities? e
(a) 50 {b) 20
(c) 40 Ad) 30
123. First National Centre for Marine Biodiversity
(NCMB) of India is situated at - ﬁ
_Ia) Bhavnagar (b) Mumbar* P~
(c) Puducherrys= (d) Jamnagar ;-

124. Which of the following is not correctly matc@?
(@) Shah Turkan — Wife of litutmish
' "‘2" u’b‘l/ Hamida Banu Begum — Wife of Allaudin Khilji
(€) litutmish — Father of Razia
(d) Gulbadan Begum — Daughter of Babur =~
125. In National Parks, Genetic diversity is mainta ﬁ};d
————

120. "gra—Aer @ wed o, Frafofeg sui & @

123.

124.

" (@) 9E gBT — Foqam. DI gl

B |/ wE R /R

(1) s ¥ odf v &= & U6 B TC W
T Rrsit @7 webe B A 2

(z}ﬁfréamﬁ?ﬁfﬁaﬁwmﬁf‘cﬁamﬂﬁaﬁ
10°C T a1 ot &, o wgm # wfee
<) w7 g e € |

e fog g ae @ WA I G -
@'_
(@) 7 #fr 1 AT & 2 (b) aet 1
(c) Hae 2 (d) gf 1 Td 2
.m@ﬁmmﬁmmw
{aJaﬁrwﬁmw (b) T Hif Td
AR Fott - e el
(©) de oif¥e v (d) e ol v
IR S EERIC]

@ FoE 2023-24 B TR, IS A

& forq gail P wrEE yaE o @ forg R

it 3 FoeT BreTer WK SRS B Wi

Y ARA?

(a) 50 (b) 20

(c) 40 (d) 30
Hﬁﬁﬁgﬂﬂﬁiﬁﬂﬁﬁ?ﬁ?ﬂﬁ?ﬁﬁﬂmﬂ'ﬁ?ﬁ
(e gad) ferd & —

(a) AT H (b) Hag o

(c) qgadr # (d) SR H
Frefafag § @ B @ §8 gAford 981 8¢

(b) E¥faT AT TH — IFASE Raeroll B g
¢) goqame — T & e

(d) TorEe 9TH — WE” B g

125. 3Py Wit o Snaife AT &1 we—vam

_18) In-situ conservation (D) Ex-situ conserva (a) g7—¥Tg, HRET ERT (b) wae—¥ie wverr 1)1
T ——— (d) None of the abowé- (¢) S 9t BRI (d) SuaT # & &g e
Who was ‘Khareetadar’? ; WP ) TeITe !r, Eg_ﬁ or?
Jﬂl Despatcher of royal (b) Main custodian o a) BRAMI BT Ao (b) TR BT WO
decrees " royal pa!ace;" ClIGI m HiEH
(©) An officer who was ' (d) Chief Officer of (c) srferpr wir (d) o= @1 o
trained in keeping Pargana fewme—farame % HEEY
accounts ¢ H4IoT BT o
[B-1-23] 153101
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127. Biological Oxygen Demand (BOD) is a standard

-

criteria for - .
(8) Computing O; level in forest ecosystems s

(B) Measuring O; level in blood ¥

(c) Assaying O; level in high altitude regions

__Ad} Pollution assay in aquatic ecosystems

o

128. Given below are two statements, one is labelled

as Assertion (A) and other is Reason (R) j
Assertion (A) — The Tamil Nadu coast remains dry
\J during South-West maonsoon
ARG e

Reason (R) — The Tamil Nadu coast is situated
‘parallel to the Bay of Bengal branch
of South-West monsoon and it lies
in the rain shadow area of the
Arabian Sea branch of the South-
West monsoon during monsoon
season. Sk

Select the correct answersusing the code given

below —

Code -

W

&Bﬁth (A) and (R) are fr_ye and (R) is correct
explanation of [A) ;

(b) (A) is false but (R) is true |

(c) Both (A) and (R) is true but (R) is not correct
explanation of (A) '

(d) (A) is true but (R} is false

129. with reference to the joint sitting of Parliament,

which statement/s is/are correct?
(1) Article 109 provides for the joint' sitting of
both Houses in certain cases.

L{}l)ﬁie Speaker presides the joint sitting of the
two Houses of Parliament. '

Select the correct answer using the code given
below -

Code -

(&) Neither 1 nor 2 (b) Both 1 and 2

(d) Only 1

(S Only 2

130. Which of the following Scheme/Programme is
not the Central Government Programme and it is .

Uttar Pradesh Government’s Programme?

(@) Pt. Nehru Utkarsh  (b) Gramin Swasthya
ission

Mission
(c) MGNREGA A9 Ganga Expressway

127.

128.

draiforer it fEaie (@.3N8) fng

e & S AFES 87

(@ T ﬁﬁﬁﬁ%ﬁﬂﬁﬁ#?ﬁ?ﬂ
o @ g !

{byﬁﬁm$ﬁ?'ﬁﬁm$m

(c) SoT SATE ATl &l F RIS B A 3
ferg 5

(d) sy wRRefe o= & YT I Wi @ fy

4y <) Po & R e B S (A) alR

R P PR (R) FET T & —

|

| afmer (A) — SROOfEE AT A B

129.

130.

2R affierrg T I&h &l &
HROT (R) — AT TC ST BY WSl B ]
3 wEETY Ry § SN gfEo-uftem

qIA BT 3RE WRR gResTan &4 ¥
fRerT 2|
I Ry 7 B & 9 IO gAY -
@'—-
(a) (A) 3T (R) ST W €, 3R (R), (A) @ W
AT T B
(b) (A) TeeT & fibeg (R) &9 &

(€) (A) 3R (R) ST o & @fb (R), (A) T W&
NN Fel Heal &

(d) (AY ¥ & faeg (R) TTorer &

e B Hga 989 & Hod ¥ fyefafag aul

W B/ P w8 -

(1) g2 B TRl § Hag B =T WA @
WY 48% ST UEYT Hedr | '

(2) T el B YR do I sraerar wWhaw
FAT B | '

e RY T o # 9wl s g —
o 1 3
l'.a.]ﬂ'ﬁ;'ll:ﬁﬁl fb}a’ﬁ‘flmz'
(¢) Taa 2 (d) Faer 1

fFrefafed & ¥ o W edsw g a@r
;Tmﬂﬂﬂﬂw% 78l & o 9% 9w wow weaR @
? -

(a) 9fée <& S (b) Trfier <Ry e
RIEE
(¢) HeT (d) 7T e 3

[B-123] 153101 | .
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131. Natural resources should be used by the present

generation in such a way that if there is minimum
degradation of natural resources, then what kind
of development would it be called?

;"?/T[a]n Social Development (b) Sustainable

Development.
(c) Economic (d) Organic
Development Development

'~.132' ho among the fnllowing'wumen freedom
fighter was not associated with ‘Quit India
Movement'? '

Y (a) Kanak Lata Barua
(¢) Shanti Ghosh
133. Which of the following Provision is a part of both

(b) Matangini Hazra
(d) Aruna Asaf Ali -
Aruna Asat

. Directive Principles of State Policy. and
Fundamental Duties? e e
(a) Participation of workers in management of
industries

(b) Uniform Civil Code »7
(c) Guardians to provide
- education to children »
P Protection of environment
134. Which of the following (Port-Country) is
correctly matched?
_Adl lgarka — China
‘(c) Montevideo —

ruguay
135. The Constitution of India initially permitted the

use of English language for all official purposes

opportunity for

not

(b) Jakarta — Indonesia

(d) Rotterdam —
Netherland

for a period of -
(a) 20 years (b) 10 years
(c) 5years wAd] 15 years
136. Which of the following scheme/s is/are related to
Uttar Pradesh?

(1) Anuthee Uphar Scheme X
‘-l"" (2) Matra Shakti Udyamita Scheme
_ (3) Kaushalya Matritva Scheme

(4) Stree Nidhi Scheme

* “Select the coFrect answer using the code given

" " below —
Code - -
_A® 2,3and 4 “'{b) Both 2and 3
(c) Only 1 (d) Only 2

191, SpRi ST o1 T G T g e @
&RV B, T ¥ % gaR @1 e wEanm?
(a) wrfors A& (b) Tad RAem
(c) anféfep fawm () Sfig R

192, Prefarfad & & B Afder w@dFar S W
BT anderT & Wi TE &7

(8) He o gwam  (b) AT ETONT
(c) wrifer €19 (d) STEUTT AT STl

138, Prfefad § & @iwer wau Ay Fws awl
orr Afere e ST BT TP AR 87
(a) SeiY @ @ § FHART @1 AT A
(b) ST ARIRG wfear
- {clmﬂﬁ’faﬁ,ﬁwa’?mfaaﬂﬁ
(d) gaIfaRoT @1 HETT .
134, i & & P (FexTE-2w) W gAfT

w8l 87 _ |
- (a) TRl — AT (b) wrepTaf — SR |
{C}W—W{dIWFW

195, sy R 3 T 3 oy sy @ forg Wl

) weeEt 2 onieR W B ST & AU

. aEr e @l of?
" (a) 2099 (b) 10 9%
i (e) s (d) 15 o

136. frefforaa § ¥ @I W Ao/ d SR gR |
7 dfe & /87

(1) S IUBR Tl

(2) mrgofad S=feT gior

'_"'- {4}@%% G
R Ry e g @ Wl e g -

o
| (@) 2, 3 3ftv 4
 (c) waw 1

"l.’blaﬁ‘fzaﬂ-qa
@ 373 2
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137. Chandraprabha Wildlife Sanctuary is situated in
which district of Uttar Pradesh?
_{8) Chandaull (b) Sonbhadra
‘ (¢) Lakhimpur Khiri (d) Baharaich
hich Indian origin businessman has been
elected as Mayor of London Borough of
Southwark for the second time?
G‘/ (@) Gautam Adaniz (b) Sam Dalton i\
{d) Neeraj Patil

(€} Sunil Chopra g
138. Which one of the following (Place of the revolt of
1857 — Start of rebellion) is not correctly

matched? B T
< Jhansi—-11 May,  (b) Barrack — 29 March,
1857 1857
(©) Lucknow —4 June, (d) Meerut— 10 May,
1857 1857

140. What caused wind to deflect towards left in
Southern Hemisphere?
(@) Pressure - (b) Temperature
—T€) Coriolis force (d) Magnetic Field
141. When did the Water (Prevention and Conitrol of
Pollution) Act was enacted in which of the

following year? .
(@) 1977 —tb) 1974
(c} 1975 (d) 1976

142. With reference to mineral resources, which of
- the following statement/s is/are correct?
1. Lithium’s inferred resources have been found
in Reasi district of Jammu & Kashmir,_~"
4 2. India is import dependent for many minerals
like Lithium, Nickel and Cobalt. A"
Select the correct answer using the code given

below —

Code -

(a) Only 1 (b} Neither 1 nor 2
(e) Only 2 ~—d) Both 1and 2

143. ‘Oz0ne |dyer’ absorbing ultra - violet radiation

exists in which of the atmospheric layer?
(@) Thermosphere D) Stratosphere
(¢) Mesosphere (d) Troposphere

187, ey TG SRRV STR ¥ B ¥ Fmg

¥ e 87
(a) TwaTell (b) T
(c) TEHYR WY (d) gExTEd
138, Wi el B e e o1 Wewas & F

=T BT HAN Y IR AT AT &7
(a) it areTY (b) 97 o<
(c) ger AIaST (d) w1 grfes
139. Prerfae 4 & F (1857 FARE 3T ™M
— fagie @1 aew) wé gAfera el 87

(&) i — 11 7€, 1857 (b) bR — 29 AT,
; . 1857

(c) oEer — 49, (d) RS — 107E, 1857

1857 3

140. gyl Momd § gar & 9} o fAgfT &1 @

T BRI E7

(a) gg1g (b) TmgHE
(¢) PrRIf ot (d) gawg &
4. 5 Rvom v wenw fhasen) afdfas o
frfofad # 9 59 af a9y ma?
(a) 1977 % (b) 1974 %
() 1975 (d). 1976 %

142~Eﬁﬁ'ﬁ?ﬂﬁ1iﬁ?ﬁ'ﬁﬁ ﬁwﬁﬂﬁ‘mwﬁﬁﬁ
,_Eﬁﬁﬁwxﬁﬂﬁ%zﬁ?
1 959N & Racf frer § E—ﬁlﬁ!ﬂ 3
ATAT HUET YuSR firer #|
2. NG 3 @l 3 AfRm e a
P & o0 s w Pk &)
%ﬁfﬂﬁﬁ@ﬁﬂﬁwﬁ-
ﬁ"—.
(8) e 1 (b) 7 & 177 & 2
(c) Fgat 2 (d) BT 1 a3k 2
148, T R B SRR Pt areh
WA R A R F R 87
(a) o9 Hew (b) HHETY Hewd
(c) &g Hed (d) &Tv Hee

[B-1-23] 153101
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144. \Which of the following is not a3 custainable 144 F=ifarfag &
¥ B H Haa e
T e T8

g::;[::pment goal targeted to be_ar.hmved by & R 2030 T WE SRy Y SR T Ty A7
() Gender Equality ~tf) Space Research (@) v s (b) sfafer Srgere
(¢) Good healthand  (d) Zero Hunger () st WA d (A I
well being EEL
145. Which of the following is_known as “World 145. fopmy % W i w1 g dedmw REw 3 w0
Wetlands Day"? ¥ T W 87
\ _g) 2 February (b) 15 January . {a) 2 T (b) 15 aH
(c) 1 February (d) 10 January () 1 weadt | (d) 10 ad
urld Social Protection Report is published by - 146. fyg wrifere wReer RuTE wemfim & e E -
(a) World Economics __(B) International Labour (a) faga afdfe W g (b) SFENIS A
Farum Organization ' Hired gl
(c) world Health ~ {d) World Bank (c) fva varey de+ (d) e ¥5 BRI
Organization T
147. \Who composed the Golden Globe Award winning 147 Tliese el GEEAR faorar A, G B
song “Naatu Naatu™? HER T —
(a) .S. Rajamouli (b) Devi Sri Prasad (a) RN (o) Fd £ e
{c) A.R. Rehman Ad) M.M. Keeravani : (c) TR, B {d) THOHARTEA

148. 7 ea®, 2023 @, Ffeiem # @ fa &
mwﬁmwﬁm%wm

148. Among the following, which country has declared
to remove the British Monarchy from its Central

Bank Currency Notes on 2™ February, 20237 1 ger & g P
(a) Canada (b) Nepal (@) ST {b) =Tt
(c) Sri Lanka —td) Australia (c) #fiofeT (d) affeiern
149. Which among the following ruler of Kashmir 149 et § & PR B e ST o Sl
abolished Zaziya and Cow Slaughter? i 7T BT B HATS faa?
(a) shamsuddin Shah (b) Haider Shah ' o (a) g I8 (b) BEX WME
(©) Sikandar Shah (@) Zain-ul-Abidin . (o) Ry WE (d) St ST
150, Which-one of the following (Tributary = River) s 150 FymfiEd 53 o (e T — ) w8
not correctly matched? giferd & 27
(a) Malaprabha - (b) Hemavathi—Kaveri ., e = m gl
A Krishna
() Manjra — Godavari. l{é): pranhita— (c) HT — TETE (d) s — AEEE -
Mahanadi - :
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